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SA: EEE
A MH2AIH(FAS)(OIE/IIE)
Ehelr D122l (2 &@
SH BB SAEA) - HBAY - BAS Ol &4 o8 e HlmE2
& 25,0003 »1CH 23] 50
(@R% =] 6,849
— 29 6,849
NS A 1,300 *1.74 *8Al 2tx30H*100L 5,304
=34l 1,300 *4.954 *BAl2t*x30L 1,545
Oxtgs A2 4,150
—AEHIE(ER) 3,450,000 1CH 3,450
—BEES (MY L AEREH0 &) 350,000& *2CH 700
OXSKA (3 2) 30,000 = 1CH 30
202 O Hl 37,700 34,800 2,900
01 2 LA YI 37,700 34,800 2,900
O& WAyl 200,000 x13Y 123 31,200
O&2 0yl 50,0003 x13F +10! 6,500
203 Z R =& 10,120 10,080 40
01 JI22FHR=8| 6,600 6,600 0
oHz 6,600,000& 6,600
02 RItatE R =&Yl 520 480 40
OZ 3t 2=t 40,000 «13H 520
04 RN2EH =L 3,000 3,000 0
OFM2IERFTH 250,000& x12& 3,000




